15
736 15

95 7 50

10

71.3
65.9
329

60

525
485

13
44.7




3
1819 0 0 1 0 1
20-29 31 9 43 22 105
30-39 24 7 65 7 103 N=99 N=228
40-49 16 3 39 4 62
50-5 4 4 35 2 45
6067 1 0 7 0 8 30 31 31 3l
o 0 3 0 3 )
76 23 193 35 327 27 29 30" 29
2
25 26 26 26
34 33 33 32
26 27 26 26
31 30 31 31
28 28 26 26
30 28 31 29"
82 297 298 27"
32 33 31 297
33 32 31" 30
29 30 20 30
32 31 30 30
34 34 32 31
.81 31 29 28
33 33 30 29"
30 31 28 26
38 37 35 35
4
32 32 30 29
*p<0.05 ** p<0.01 2
# p<0.05 ## p<0.01 ### p<0.001
4
N=4 N=9
80 81 85 82
75 74 78 17
78 77 81 1T
__________________________ 83 84 86 82
99 99 99 99
95 95 89 98
T 93 88 96
*p<0.05 **p<0.01 2



